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1. (1)y=Ce’" ™, (2)y:Csinx—l;
(3)%’[sin%7ﬁ0 B, @ A#E N In
(k=0, £1, 2, )3

=C - 251117 é]'smf—OEH‘ Vet Ny =km

- drrtan

(4)smf—ln\x\+C (5)xy =Ce ;

(6)In[ (x =1)7 +4¢*] +arctar1 2 =C;

(7)x+3y +2In|x +y -2 =C(C=2C]);
(8)y=x" +Cx;
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(9)x=Cy' +5

Ce_‘v+i.
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(11)x=Ce™ -2(siny +1);
(12)x =y" +Cy’e';
(13)y=f(x) =1 +Ce ",

(10)x =

(14)xy~° +%x2(21nx -1)=C

(15)y % =Cx* —%x‘% w7y =Cxt -xy
1

Cex2/2 _xZ _2;

(17) (L +2°) (1 +9*) =Cx*;

(16)y =« +L=x+
z

(l8)arcsir1l:ln‘x‘+c;yZ:xz;
x

(19)y* (2 +1 +Ce”) =1, y =0;

(20)x” +3x°y =C;

(21)xsin(x +y) =C
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(23)f—1n(x +9) +C ($R: ML Hﬂt\U\T)-
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2. (1)2+3_2+3,
(2)y=3(4-e);
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(3)ﬁ%y_6+ln\l+x\’%ﬁ%y_o’%%y_lﬂn‘l+x"



()RR« = %Siny + Cescy, FrfiE R x = %siny + %cscy.

3. y(x) =e"(x+1).

4 ()% x+y=u, W cse(x+y) —cot(x+y) =2
X

(2)% xy =u, RN v = Cye”;
(3)/%u=y2, N }’2 =e_7x~(jepzsinxdx + C) ;

(4)% z=siny, u=z"", ﬁﬁﬁj\jsi27y+cosx+sinx=(]e’x, IR y = kg
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(5)/%%=u, WA () =32)(y" +2x)° =€

(6)4 u=xy, BIEN y = -;—xtanw +0) ;s
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<7>é\y=y;, iﬁﬁ’i?’ﬂsin%:&;
(8)% u=¢', MK y= —In(Cx —22).
5. 9H 1.5 g/L.
6. o(t) =e*”.
7. R Wy = e IRAJEMON TR, AIRH P(x) =x(e ™ = 1), AORIEM A y =

Cer™ " bt UM IR y = =T



